WL EHEA BRI L E I 10%0% [ER19EE]) | 8 @ |
1 /NRIEFEEE (9K LLT) I (B4 FME. %)
No. | SBFRE ki aal AEE| SO | e | cmow | me o | ore | s | s
1 |BHE EE 1) EREXRER 70 5% (FIF) A633 1,820 795 213.2 84.2| 1,042.7
2 |HEE RE™H KO Ri&kE 86 A 3646 6,635 2,653 130.5 35.2 111.3
3 |fEEE RIFTH FERRRE 96 e A2640 5,424 2,784 130.2 52.9 73.7
4 | EHE rHEH AT ER 27 1,887 0 1,887 115.3 63.0 54.4
5 |FEE EEORFERGER |ERPRERRIENS PR 36 E] 2,068 0 2,068 111.8 88.0 43.0
6 |HEARIE XEM AT H R R 99 A539 1,828 916 110.7 91.7 67.3
7 (WO EET EETILERS RER 58 A705 2,345 1,296 110.0] 95.3 471
8 |BiEE AFE RET E R E G 77 649 1,395 1,095 109.8 93.0 52.6
9 (AR =k EEIPNEL 80 A988 2,309 1,019 109.8 87.6 55.6
10 [#iBE kT P 348 ) 1R 58 A3.155 5,238 11250 1094 74.9 69.3
2 hiREREEE (100~ 399EK) I — — — ___
No. | SBFRE ki aal wrm| "0 | e | cmow | me o | ore | sew | s
1 [RFE B AT RiRkR 173 A5223 6,358 795 117.0] 43.1 75.2
2 |AWLE ) MLAAERHERE s |EILEREHRERE 2 — 252|  Mhi% A775 2,402 1,628 116.9 87.2 53.3
3 [WWmE BB L AERAE NI EBREHRER 110 A2093 3,342 155 109.7 92.6 60.5
4 |pEg HER INERRBEEREEVZ— 100 £ A5231 7,943 1,921 107.9 73.2 58.6
5 |RIKE Hhih) bRt R AF R :II:#‘EPS&? 5 278 ik A607 1,244 637 107.1 459 56.0
6 |RELIE =E24i] REMERRKR 198 A142 926 712 106.7 81.7 61.2
7 |dbimE fEFH %%ia’?ﬁﬂ?ﬁ 105| 55 (FIF) 308 4 308 105.5 98.3 0.0
8 |RIFE RBEHEEREMRS | LABERKKR 186 A751 1,833 656 104.8 85.9 52.6
9 |KBRAF k) KIRAF LRIt [ B FREBREER VS — 363 ik A6974 8,512 1,538 104.7 81.7 48.9
10 |EFE AFE ERHEE 272 2@ AB99 2,446 656 104.1 85.0 56.5
3 xfﬁffiiﬁﬂﬁ(moriu;) I — — — ___

1 [FNE =ERERRAE EaREhk 519 1,110 1,254 1,760  108.7 96.2 456
2 |EFE AFE EPH&WE 730 4@ A1,480 4,694 1,775 107.8 83.6 51.1
3 |MEINE  (#HEINE _ELERtEVA— 419 E] A 9987 11,867 16100 1074 86.4 70.7
4 |BEHR REH T im iz 821 A1,169 4,974 3,804 106.5 84.8 48.6
5 | KBRAF k) KR AT SLfRBe s | R A/ 2 — 500 ik A4611 6,102 1,491 104.9 89.2 445
6 |RIFE Ri&H RiGHIIH RKER 414 4@ A530 1,756 893 104.8 87.1 52.5
7 |=RE =g LR 525| &3 A 3301 5,219 788 104.6 82.6 59.2
8 |BIIE AIE R iR 662 A3 1,886 867 104.6 82.4 51.2
9 |KBRFF k) KR AT SRR tess [P ER 4 — 583 MhiE A 3602 3,966 363 104.6 67.4 71.7
10 [ERBE |ERBEE PN =t 400 £ A1747 3,488 1,114 104.0] 87.0 60.3
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